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K-wefvM 
 

1| (K) Acv‡ikbm& wiPvm© Kx? [What is operations research?] 
[Ch-1A: Quiz-1] 

 (L) cwienb mgm¨v Kx? [What is transportation problem?] 
[Ch-2A: Quiz-1] 

 (M) Bw›URvi †cÖvMÖvwgs ej‡Z Kx †evSvq? [What is meant by integer 
programming?] [Ch-4: Quiz-1] 

 (N) MÖvd Kv‡K e‡j? [What is called graph?] [Ch-3: Quiz-2] 
 (O) Pµ Kx? [What is cycle?] [Ch-3: Quiz-3] 
 (P) wUª ej‡Z Kx †evSvq? [What is meant by tree?] [Ch-3: Quiz-4] 
 (Q) ¯ú¨vwbs wUªi msÁv `vI| [Define spanning tree.] [Ch-3: Quiz-5] 
 (R) wmKz‡qwÝs mgm¨v Kx? [What is sequencing problem?] 

[Ch-5: Quiz-1] 
 (S) WvBbvwgK †cÖvMÖvwgs ej‡Z Kx †evSvq? [What is meant by dynamic 

programming?] [Ch-7: Quiz-1] 
 (T) †MBg Kv‡K e‡j? [What is called game?] [Ch-6: Quiz-1] 
 (U) wRb we›`yi msÁv `vI| [Define saddle point.] [Ch-6: Quiz-5] 
 (V) †c-Ad g¨vwUª· Kx? [What is pay-off matrix?] [Ch-6: Quiz-3] 
 

L-wefvM 

2| wjwbqvi †cÖvMÖvwgs mgm¨vi MvwYwZK dgy©jv e¨vL¨v Ki| [Explain the 
mathematical formulation of a linear programming problem.] 

[Ch-1B: Art-1B.7] 
3| wmg‡c­· c×wZ e¨envi K‡i wb‡Pi †hvMvkªqx †cÖvMÖvwgs mgm¨vwU mgvavb Ki 

[Using simplex method solve the following linear programming 
problem]: 

 MwiôKiY Ki [Maximize]: 1 2 3 420 25 5 30Z x x x x= + − +  

 kZ©mg~n [Subject to]: 1 2 3 43 3 3 45x x x x+ + + ≤  

  1 2 3 42 3 3 30x x x x+ − + ≤  

  1 2 3 4, , , 0x x x x ≥  [Ch-1B: Prob-1] 

4| Dijkstra Gi GjMwi`g e¨envi K‡i wb‡gœ cÖ̀ Ë ~̀iZ¡ wPwýZ †bUIqv‡K©i 
b~̈ bZg c_ wbY©q Ki [Find the shortest route using Dijkstra’s 
algorithm of the given network with distances marked]:  

 

   [Ch-3: Prob-1] 
 

5| wb‡Pi †bUIqv‡K©i Rb¨ c_mg~n wbY©q Ki Ges Dnvi cÖ‡Z¨K †¶‡Î ¯̂íZg c_ 
†ei Ki| Bnv n‡Z Optimum cÖevn wbY©q Ki [Determine the path from 
the below network and shortest path for each case. Also find the 
optimum flow]:  

 

  [Ch-3: Prob-2] 
 

6| m n×  g¨vwUª· †MBg mgvav‡bi Rb¨ Brown’s GjMwi`g e¨vL¨v Ki| 
[Explain Brown’s algorithm for solving m n×  matrix game.] 

[Ch-6: Art-6.10] 
7| WvBbvwgK †cÖvMÖvwgs Gi mvnv‡h¨ †Kvb cÖKvi mgm¨vi mgvavb Kiv nq Ges 

†Kb? [What sort of problems can be solved by dynamic 
programming and why?] [Ch-7: Art-7.4] 

8| eªvÂ Ges evDÛ cÖYvjxwU eY©bv Ki| [Describe Branch and Bound 
method.] [Ch-4: Art-4.4] 

9| wZbwU †gwk‡bi ga¨ w`‡q n -msL¨K KvR cÖwµqvKiY cÖYvjx eY©bv Ki| 
[Describe the method of processing n  jobs through 3 machines.] 

[Ch-5: Art-5.5] 
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M-wefvM 
10| wjwbqvi †cÖvMÖvwgs mgm¨v mgvav‡bi Rb¨ wmg‡c­· c×wZ eY©bv Kvi| 

[Describe the simplex method for solution of linear programming 
problem.] [Ch-1B: Art-1B.12] 

11| wb‡Pi cwienb mgm¨vi Optimal mgvavb wbY©q Ki, †hLv‡b mviwY‡Z cwienb 
LiP UvKvq †`Iqv Av‡Q| [Find the optimal solution to following 
transportation problem in which the cells contain transportation cost 
in taka] 

 

 1 2 3 4 mieivn [Supply] 
A  2 2 2 1 3 
B   10 8 5 4 7 
C   7 6 6 8 5 

Pvwn`v [Demand] 4 3 4 4  
 

[Ch-2A: Prob-8] 
12| Assignment mgm¨v mgvav‡b GKwU c×wZ Av‡jvPbv Ki| [Discuss a 

method for solving Assignment problems.] [Ch-2B: Art-2B.4] 
13| Gomory fractional cut c×wZ e¨envi K‡i wb‡Pi Bw›URvi wjwbqvi †cÖvMÖvwgs 

mgm¨vwU mgvavb Ki [Solve the following integer linear programming 
problem by using Gomory fractional cut]: 

 MwiôKiY Ki [Maximize]: 1 24 5Z x x= − +  
 kZ©mg~n [Subject to]: 1 23 6x x− + ≤  
  1 22 4 12x x+ ≤  

  1 2,x x  AFYvZ¥K c~Y©msL¨v| [are non-negative integers] 
[Ch-4: Prob-4] 

14| cuvPwU KvR Aek¨B `yBwU †gwkb A  Ges B  †Z AB  µ‡g m¤úbœ n‡e| 
cÖwµqvKi‡Yi mgq wb‡gœ †`Iqv n‡jv [There are five jobs each of which 
must go through the two machines A  and B  in the order AB . 
Processing times are given below]: 

 

KvR [Jobs] 1 2 3 4 5 

†gwkb A  
[Machine A ] 5 1 9 3 10 

†gwkb B  
[Machine B ] 2 6 7 8 4 

 

 cuvPwU Kv‡Ri Rb¨ GKwU µg (sequence) wbY©q Ki hv †gvU e¨wqZ mgq‡K 
b~̈ bZg K‡i| [Determine a sequence for five jobs that will minimize 
the total elapsed time.] [Ch-5: Prob-6] 

15| wb‡Pi g¨vwUª· †MBgwU‡K GKwU †hvMvkªqx †cÖvMÖv‡gi mv‡_ m¤úwK©Z Ki| GB 

m¤úK© e¨envi K‡i †MBgwU mgvavb Ki [Describe the relationship of the 
following matrix game to a linear programming problem. Apply 
this relationship to solve the game]: 

  

3 4 2
1 3 7
2 4 7

− 
 − − 
 − 

 [Ch-6: Prob-44] 

16| (K) WvBbvwgK †cÖvMÖvwgs mgm¨vi ˆewkó¨ eY©bv Ki| [Describe 
characteristics of dynamic programming problem.] [Ch-7: Art-7.2] 

 (L) WvBbvwgK †cÖvMÖvwgs †KŠkj e¨envi K‡i wb‡Pi mgm¨vwU mgvavb Ki 

[Using dynamic programming techniques solve the following 
problem]: 

 jwNôKiY Ki [Minimize]: 2 2 2
1 2 3Z x x x= + +  

 kZ©mg~n [Subject to]: 1 2 3 15x x x+ + ≥  

  1 2 3, , 0x x x ≥  [Ch-7: Prob-2] 
17| wb‡Pi wØNvZ mgm¨vwU mgvavb Ki [Solve the following quadratic 

programming problem]: 

 jwNôKiY Ki [Minimize]: 2 2
1 1 1 2 2( ) 6 2 2 2f x x x x x x= − + − +  

 kZ©mg~n [Subject to]: 1 2 2x x+ ≤  

  1 2, 0x x ≥  [Ch-8B: Prob-5] 
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